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This paper consists of seventy five multiple-choice type of
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(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
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booklet.
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the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
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After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
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space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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LAW
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Through 42" Amendment to the constitution which of the following ‘Expressions” were
added to the Preamble ?

(a) Sovereign (b)  Socialist (c) Secular (d) Integrity
Codes :

(1) Only (a), (b) and (c) (2)  Only (b), (c) and (d)

(3) Only (), (c) and (d) (4)  (a), (b), (0) and (d)

2. Match List-I with List-II and give the correct answer by using the codes given below the

lists :
List - I List - II
(a) Compensation to persons (i) Delhi Domestic working women’s
killed in “Fake Encounter” forum v. Union of India
(b) Compensation to Rape Victims (i) Bodhisathwa Gautam v. Shubhra
Chakraborty
(c) Interim Compensation to Rape Victims (iii) People’s Union for Civil liberties v.

Union of India
(d) Protection against illegal arrest, detentions  (iv) Joginder Kumar v. State of U.P.

and custodial deaths.

Codes :
@ (b) (9 (d)
1) (@v) @) G @0
(2) @) @ G ()
() @) (@v) @ ()
@ @ @ @) (@v)
ad T z




fafr

TIUA - 111

fder: 39 g B UeEe (75) 9g-faseuta UvH ¥ 1 UAE U & ©F (2) of €1 |t we e 7

1. dfaum & 42 9 oA g frefafea ® @ S0 9@ erfieafaar’ g&amem § Siet @ off 2

(a) 99y (b) HETSTETR! (c) dufraa d) eTEed
e :

(1) o (a), (b) 3R () (2) He (b), (o) 3R (d)

(3) I (a), (o) 3R (d) @ (@), () () ()

2. eI % gei-11 % 91 gafed s o) gfedi & 9= feu U el o1 7o 3 g 9 S| T

A - 1 T - 11
(a) ‘TRl gawE!, ¥ AR T =Afw wi afayfd () ﬁwﬁ@ﬁmaﬁngﬁmqﬁmaﬂm
IRA T
(b) SRR difed I &fagfd (i) S Taw oA YT =hedt
(c) R difed &l =R\ afaqfd (i) WWWWWW
IRA T

d) oY W), FREM R ARRevig g & (iv) SIS FHAR g9 W U= T
oo guan

Fe :
@@ (b) (9 (d)
1) (v) (D) @@ @)
() @) @ G )
) (i
(i

iif)

—

3) (i) (iv) ()
4 (

i) (i) (i)
rsss | AN :
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3.  Match List - I with List - IT and give the correct answer by using the codes given below the
Lists :

List - I
Right to speak includes (i)
Right not to speak

List - II
R. Rajagopal v. State of T.N.

(b) Government has no monopoly  (ii) Tata Press Ltd. v. Mahanagar Telephone
on electronic Media Nigam Ltd.

(c) Commercial Advertisement is (iii) Secretary, Ministry I and B v. Cricket
part of Freedom of Speech and Association of Bengal (W.B)
Expression

(d) Government cannot impose prior (iv) Bijjoe Emmanuel v. State of Kerala
restraint on publication of
defamatory material against its
officials

Codes :

(@ (b) () (d)

(1) Gv) (D) @) ()

(2) @) (@) @) ()

G) @ (v) (D) (i)

4 @) @@ Gv) ()

4.  Which of the following statement/statements is/are correct ?

(a) Fundamental Rights are not absolute. They are subject to reasonable restrictions.

(b) Freedom of Press is implict in Article 19 of the Constitution

(c)  Socially and economically backward classes of persons are entitled to get benefit under
clause (4) of Article 15 of the Constitution

(d) “Equal protection of laws’” under Article 14 of the constitution is based upon English
law

Codes :

(1) Only (a) and (b) are correct (2) (a), (b) and (c) are correct

(3) (c) and (d) are correct 4) (a), (b), (c), (d) all are correct

5.  Match List-I with List-II and give the correct answer by using the codes given below the
lists :
List - I List - IT

(a) Parliamentary Form of Government (i) The U.S.A. Constitution

(b) Directive Principles of State Policy (i) German Constitution

(c) Fundamental Rights (iii) United Kingdom Constitution

(d) Emergency Provisions (iv) Constitution of Ireland

@)

odes :

@ B © @

1 Gv) (@) @ @)
(2) i) (@v) @ @)
G) @O @) @) ()
@) @ @ @v) ()
ad T .



. e 1 g - 1% W1y gafad #X iR gieei % = fou 7@ 52 & wEn #i%d g HE W

A - 1 T - 11
(@) W o SAURR T 7 oe o1 SRR (1) TR TSI 994 AHAg T3
e B
(b) SARITHR HIfed T TEHR (i) 21 99 faffee a9m™ 7o SeeE  fm
THITYHR Tal < | fafuee
(c) A fasme ame iR stfvyeafa (iii) @feE, FET AR THRO HAET T
T TN T AR | aret fohehe TEifaTeE (ufvem amme)

(d) TR T syl & faeg (iv) o TARTA a9 3d T
AR WU & JhRH T
Tl Aeh &I M Fehell |

@ ®) © (@
(iv) (i) @G) (@)
() ) @ (@)
i Gv) () ()
i 0 G G

. frafafed § @ &1 91/9 %A w8 8/8?

(a) Hiferes Afyer scdfas 721 €1 9 g frelem & foama €1

(b) HfGUH & =8 19 W IH I Taar fHfed 2|

(c) Hfau™ & T{=< 15 % WUE (4) & ded AHISIw IR i fUse ol & & a9 ™ 7g
s 21

(d) dfaum & Tgesg 14 % ded ‘faferl &1 wam wRe’ SIS HEE W mHiE ®

%<

(1) &9 (a) 3R (b) & 1 2) (), (b) 3R (c) T T

(B)  (c) IR (d) T 4) (a), (b), (c) 3R (d) T+t W
. gEt -1 et - 1 Wy gafad w¢ R giedl % 1 faw ™ $el w1 7 S g ud S| T

T - 1 T - 11

(a) HIHR i FHSF YoMt () iRt Hfaum

(b) T & HAifd s 7= (i) < dfaum

(c) Hifas IR (iii) fores = wfagm

(d) AR 3T (iv) STERIvE 1 Hiagm

< :

@ ® (© (@
M Gv) @) @ )
@ (i) (v) () (@)
@) O @ @) (v)
@ @ O G G

4)
rsans [AHHFATNIN
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6. In which of the following cases the Supreme Court held that Art. 31-c was beyond the
amending power of the parliament and was void since it destroyed the basic features of the
constitution. The court observed that the constitution is founded on the bed rock of the
balance between Part III and Part IV. To give absolute primary to one over the other is to
disturb the harmony of the constitution which is essential feature of the Basic Structure.

(1) Minerva Mills v. Union of India

(2) In Re Kerala Education Bill Case

(3) Keshavananda Bharati v. State of Kerala
(4) Sarla Mudgal v. Union of India

7. Match List-I with List-II and give the correct answer by using the codes given below the

lists :
List - I List - II

(a) Original Jurisdiction of the supreme court (i)  Article 143
(b)  Advisory Jurisdiction (i) Article 136
(c) Appeal by Special leave (iii) Article 132
(d) Appellate Jurisdiction (iv) Article 131
Codes :

(@ (b)) (o) (d)
O (@) @) @) 0
@ O @ @) @)
@) Gv) @ @) i)
@) ) v 0 G

8.  Which of the following statement/statements is/are correct ?

(a) Predominance is given to the Union List Under Article 246 (1) of the Constitution

(b) Residuary powers are given to states under the Indian Constitution

(c)  “Pith and Substance” means “ the true object of the legislation or a statute

(d) “Colourable Legislation” means “what you can do directly you can also do indirectly”
Codes :

(I) Only (a) and (c) are correct (2) (a), (b) and (c) are correct

(3) (b), (c) and (d) are correct (4) (a), (b), (c) and (d) all are correct

9.  Administrative law primarily does not concern itself with which of the official functions ?
(1) Rule - making (2) Rule - application
(3)  Quasi - judicial action (4) Private law

10. Which of the following is not an exception to the principles of natural justice ?

(1) Impracticability (2) Legislative action
(3) Rule against dictation (4) Statutory necessity
yons AN ; —




10.

frefafad gercdl 9 9 forad Ssaam =mmerd 3 71 fh 31e88 31-c 998 i Henel ufd § W o
3R T o Fifer 3HY WfauH & g G g9 q S ¢ | = | oot w5 fE wfasm
7T - 111 3R 97T - [V & &9 §qed &1 SeRRren ® feod 81 379 9 T it gor § gER &l o
T | Ffaum w1 gEIa st e, S SEaEE F g g wt Tevash faa g1

(1) et fiew W 9Ra 99 (2) 3 R A TeheA foa &9

(3) hYEMS WRAT SAM HIA T4 (4) Y T I HRA G

TEll-1 1 Gei-11 o |19 Gafad &L AR gieal & 99 I 7 Fi 1 7890 H3d g Fel WS

Tt - 1 T - 11
(a) IoAdH AR H A ARMHER (1) TAT=9S 143
(b) TUHEN =AHR (i) STT=8T 136
(c) Tomiw s1gmfa gr sTda (iii) STT=S% 132
(d) e =mEfYeR (iv) I=s% 131
e :

(@ (b) () (d)

1 @) ) Gv) @)

2 @ @ @) (@)
®) Gv) @ @) (i)
4 @) @Gv) @ @)

frfafad wu/woH 5 @ ®F 91 98 8/8 ?

(a) WfauM % TT=T 246 (1) F STId T FA HI FEHA S TE B |

(b) WRdTE Hfqu™ % sria T4l i i vfear 9em wi e ¥

() ‘"R a@ w fagia’ # e e faum steen wiafy w1 et smwm )

d) ‘‘ogu faum’’ &1 e S ST Yeueid: Y Tohd § o7 39 Tycderd: off #X wehd §1

e :

(1) Fad (a) R () & 1 2) (a), (b) 3R (c) T T

(3)  (b), (c) 3R (d) T T 4) (a), (b), (c) 3R (d) Tft =&t T
frafafaa # @ frad yematte fafy qer: see sriwanl 8 et @ § 2
(1) Frm fmfor (2) frem srgmEmT

(3) erd-=faw wNEE (4) Safrew fafy

frfafad § om werfas /Fafis =m & fagidl &1 oTueR & ¢ 2
(1) STEEEH (2) faurg réam
(3) sffee fawg = (4) faurl stEvFsal

rsns [REITMAUR NI ;



11. Match the List - I with List - II using codes given below :
List - I List - II
(a) Ram Jawaya Kapur v. State of Punjab (i)  Doctrine of post decisional hearing
(b) Maneka Gandhi v. Union of India (ii) Doctrine of public accountability
(c)  Vineet Narain v. Union of India (iii) Doctrine of separation of powers
(d) Union of India v. Hindustan (iv) Doctrine of legitimate expectation
Development Corporation
Codes :
@@ () (o (d)
W G O @
@ (v @ O )
@) O (v @) G
@ O @ @)
12. Read Assertion (A) and Reason (R) and answer using the codes given below :
Assertion (A) : It is true that in any intensive form of government, the government can not
function without the exercise of some discretion by its official.
Reason (R) :  Giving discretion to government officials is necessary for the welfare of
people.
Codes :
(1) (A) and (R) are right and (R) is the right reason for (A)
(2)  (A) and (R) are right but (R) is not the correct explanation of (A)
(3)  (A) is right but (R) is wrong
(4) Both (A) and (R) are wrong
13. Which of the following is correct in relation to the functioning of the institution of
Lokayukta in Indian States ?
(1) Provided with independent investigating agency
(2) They have not been given constitutional status
(3) Prosecution and final punishment power vested with them
(4) Their decision are final and not recommendentary in nature
14. Which of the following is not considered “irrational’, basing upon the Wednesburg principles
laid down in Associated Provincial Picture House Ltd. V. Wednesburg Corporation, 1948
(KB) ?
(1) Without the authority of law (2) Based on no evidence
(3) It has sanction of law (4) It is unreasonable
15. On which of the following ground writ of certiosari cannot be issued ?
(1) Abuse of jurisdiction
(2)  Exercise of jurisdiction
(3) Violation of principles of natural justice
Error of law apparent on the face of the record
HIH\IIHII\IIHIHH\II!|||\|H|H|||H|\||\H : —




11.

12.

13.

14.

15.

< U T e o ATEAR FE-11 & |1 g=i-1 F1 fHam S

ot -1 Tl - 11
(a) T S FR TH S T () Tu-Tuiaes gaem &1 fagia
(b)  HTeRT e I WRA 9 (i) i STEIHE 1 fagid
(c) Tordd ol sHM YRd €Y (iti)  rfeRT gerernTor st fagia
(d) 9RG T I g Saauiic HUNSE  (iv) e Jeamem 1 fagid
%<

@@ () (o (d)
1) G @) 0 G) ()
(2)  (v) (@) (@) (i)
(G) @) (Gv) (D) (i)
4) (@) @) (@) (iv)
HIT (A) IR H/RUT (R) Tl 9T AR F= ST T H2l 1 TIR ek IR ST
HIT (A) : Ig I © o TR ot fohdt oft aren ® W o1 2 eafranifiar faaenfusr
% for oo s TE Y Aehell B |
HI (R) : ST % foTT s SR i AR <1 etavae ©
< :
1) (A) 3R (R) T& T IR (A) F forw FRo1 (R) T 21
2) (A) 3R (R) T € AfFT (A) F faT (R) &t =/ soedieior =& § |

3) (A) W&l ¢ e (R) T 2|
(4) (A) #R (R), I TTerd 1

goft IRAT T o AR Hedl & wrdwaml & oy § Feafafted § & w=n & €2
(1) Tdsd Sia e Suerse HI S g |

) =% gifafus Fem %1 < T2 fear 7 €

(3) =% AfEeE iR offqw < T #1 sifer fean man ¥

(4) T o sifqw € 7 foF wega yspfa & €1

raifgues Nifafaaa faeer =g fa. a9 deawar! SRy 1948 (F.81.) # fafdse deawent
fogidi & Heiy ¥ frfafed o 9 fod e T2 Twen smar g ?

1) fafy wiferer & o (2) o Hed W S |

() e fafy grr o1qHa B (4) ¥ eraifeher/ STfEa T

frfafed fora s w sdmr-fie S 72t fern ST wehan €2
(1) AfoeRTiiar &1 g&Tan
(2)  SAfeRIfdT st STEM
(3) Jafifer = o fHgidi Sl 3Te=l/ 1 ATTHAT
THES o 9@ Jhe fafy =t Ffe

oo |H||H|||HH||H||H||||\IH|\||\IIHI“IHINIHIIHHIH :



16. Which of the following is not a jural postulate of the legal system of a society as propounded
by Roscoe Pound. So in a civilized society men must be able to assume :
(1) That these will be no intentional aggression
(2) That members of society will act in good faith
(3) That people will control for their beneficial use, what they have created
(4) That people will cause injury to others during their course of work

17. Who said that customs are superior to the legislation. Therefore legislations should not abrogate
the customs rather synthesize them with the common consciousness of the people and
society ?
(1) Henry Maine (2) H.L.A. Hart (3) Savigny (4) Hans Kelson

18. Who among the following is not the exponent of Philosophical school ?
(1) Hegel (2) Kant (3) Puchta (4) Holland

19. According to Honfield table of jural relations the jural correlative of right is duty. What are
the jural correlatives of Liberty, Power and Immunity respectively ?
(1) No claim, Liability and Power
(2) No claim, Responsibility and Liability
(3) No claim, Duty and Liberty
(4) No claim, Liability and Disability

20. ‘The limits of jurisprudence defined” was published in 1945. It was written in 1782 by
(1) Bentham (2) Blackstone (3) Hobbes (4) Locke

21. Who among the following has not associated his theory of the state with ‘Social Contract’ ?
(1) Hobbes (2) Locke (3) Henry Maine  (4) Rousseau

22. Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :
Assertion (A) Criminal is a victim of circumstances, he is sick so he requires treatment.
Reason (R) : Prison reforms and juvenile schools are established to reform the

criminals.

Codes :
(1) (A) and (R) are true and (R) is the correct explaination of (A).
(2)  (A) and (R) are true but (R) is not the correct explaination of (A).
(3)  (A) is true but (R) is false.
(4) (A) is false but (R) is true.

rssns J{HTALARRAI . Papec1




16. Tr=fafaa § 9@ SF 91 woA Ten e gry gfqufed TaTst i fafies gomedt o1 faferma g 7= 21
AT Tk 99 TU § A1 98 94 9ohd © o ¢
(1) T s weore T i S ey
(2) HUN o TG AhAEdl | HH B
(3) T =M W& g fohT T GoiA 1 39 1Y o foIe s T |
(4) T @ o1 et & <R gEdl T aIfd ageTe |
17. fr=fafea ¥ @ faas wum € i v, faumm @ ssm et €1 st faums g/ et 1 fm
Tl foman S =nfeq sifess 3= F9ST SR SN i | SITTeehdl | A 31 =1
1) BT ) TATALIE  (3) wfor (4) B9 Hhewd
18. Tr=Afafed # @ 19 Swifte fommemn &1 wfques & 2 2
(1) @ (2) M 3) =0 (4) @l
19. faftrma gweisl %1 gwics IRUT & AR ARl &1 fafnra Te-gee wdeq €1 SHE: T,
viferd &R fraaear & fafurma wedey o €2
(1) 1 0 e, ITQN SR St
2) W @ 7, TR iR SRR
(3) IE Tra R, heed SR T
(4) T AT AR, SAQH SR feremerian
20. ‘fg faftew e SReayed fewre’ o1 yhem au 1945 § fohen o a1l 39 J T4
1782 ¥ foran o}
(1) sem 2) =HEH (3) TeH (4) @f®
21. fr=fafaa § | femm o199 T2 & fagid =1 amfse d@faer’ 9 Teg 7= fen 82
(1) == (2) @f® (3) T EA 4) w4
22, AfieReM (A) 3R HROT (R) 1 9feu iR = fau 70 F2f T Ferar ¥ T& S H1 =991 FIfT
afirere™ (A)  : eruwed), uRfeufadl @ R @}, 9% SR dan € safae S8 da @
g
HIT (R) : j;:;fjgaﬁlgaﬁ%m@ﬁﬁgwmaﬁﬁaﬁimﬁﬁmw
T for 5T € |
fz(A)aﬁuR)Hé%ﬁt(R),(A)ﬁww%
(2) (A) 3R (R) & § TG (R), (A) T FE =A€7 €|
(3) (A) W& & W (R) TTerd B |
(4) (A) T § W (R) WEl B
rssis [T HATACHIN " Paper-i



23. Match List - I with List - II using the codes below :
List - I List - II
(a) Right of a person not to be assaulted (i)  Right in re-propria
(b) Right of a person in his own property (ii) Right in rem
(c) Right of a person to enjoy his premises (iii) Right in personam
(d) Right of a person in the property of (iv) Right in re-aliena
some one else
Codes :
(@ (b)) (o (d)
W) @ 0 G )
@ (v @) 0 G
@) O @) @) ()
@) (W) ) @ 0
24. Read the following situations and state which combination is correct to claim benefit under
the broard concept of unsoundness of mind :
(a) Extreme Anger
(b) Somnambulism
(c) Irresistible impulse
(d) Hallucination
Codes :
(1) (a) and (b) both (2) (a) and (c) both (3) (b) and (c) both (4) (b) and (d) both
25. Read the following situations and choose the correct one, where right of private defence is
available :
(1) Against an act done or attempted to be done by a public servant
(2)  Where there is time available to have recourse to state authorities
(3)  Where there is a reasonable apprehension of causing injury to third person
(4) Where harm caused in no case should exceed the quantum of harm
26. Match cases from Group A with relevant legal provisions from Group B and find the correct
answer :
Group - A Group - B
(a) K.N. Mehra v. State of Rajasthan (i)  Section 300
(b) Aruna Ramchand Shanbaugh v. Union of India (ii) Section 120-A
(c) State (NCT of Delhi) v. Navjot Sandhu @ Afsana Guru (iii) Section 309
(d) Versa Singh v. State of Punjab (iv) Section 378
Codes :
@@ (b)) (o (d)
O 0 ) (v @
@ (O @) @
@) (v) @) @ @
@) ) ) @ 0
yons AN 2 Fapeca



23, = fou HIE 1 FA F G - [H G - 1 61 Gaferd S
et - 1 it - 11
(a) AT % SAfrwRl W gHe Tel 2 (i) Tse 3 Rwfy
(b) oot € wufd | =afer 1 SIfaeR (i) LA™
(c) o IR H JyH=Targaeh &1 H (iti) TES 3 qHAH
ferd 1 SATHHR
(d) foret o= &t ufd | safe &1 AfdER (iv) e 3 R-wfae
< :
(@ (b) (o (d)
1 G @@ @) (i)
(2)  (v) () (@) (i)
@) @ () (v) (i)
(4) () (@v) @) (@)
24, fr=Afafey feafa #1 vew: saEy o =9 @ gm fafia gmfas seeen & oy o9 &1 98 @ e ?
(a) SAATYF HIY
(b) =T Y=o
(c) 3Tl HHHIgeh e
(d) wfd 9H
? : 3 Q Q
1) @M (2 @FREQIA () O)AEQIA (@) () IR (d)
25. frefafea feafal 1 ves &€ S 1 979 wifee foad fasit gean &1 Sfusr Suesy 21
(1) fret ek o g fore S gk A1 A ok fw g fRe S ot % & fowg |
(2) el T sifueRIiEl 1 giad H %1 99T Uy | |
(3)  T& T & I B TEATY T 1 Sfad SAeieH 2 |
(4) el E B & el fomdt o e § &l A @ sifess T 2
26. HHE A % HHAl i Helg T ] THE B ¥ GAfeId T H&l ST AT =TI HifSC |
T - A UYE - B
(a) H.TA. HEU oM W ATE T (i) =W 300
(b)  STEUN YHE< AHETE o I A si<d (i) &N 120-A
() W (TWHA. A% foeef) oM Fasid 94 @ (it) &I 309
HHEH TE
(d) forrHn. Tog o™ gSE T (iv) €m1 378
%<
(@ (b) (o (d)
1 @ () (v) (i)
2) @) @) @) (iv)
(3) (iv) (i) (i) (D)
(i) (@v) (@G) (@)
posts |H||H|||H| QTR 1 Paper




27. Criminal Law (Amendment) Act 2013, seems to have determined quantum of punishment
proportionate to the severity of offence. Following are two sets of offences and punishment.
Match the correct ones and give appropriate answer using the code.

Offences Maximum Punishment
(a) Voluntarily causing grevious hurt by (i)  Life imprisonment (Remainder of the
acid attack period of life)
(b) Stalking (i) 3 years
(c) GangRape (iii) Life imprisonment and fine
(d) Sexual intercourse by husband upon (iv) 7 years and fine
his wife during separation
Code :
(@ (b) () (d)
O (@) @ 0
(2) (@) @) @ (@v)
¢ @ @) 3§) (iv)
4 @ @) @ (@v)

28. X a servant committed theft of Mobile phone of his master M and ran away from home.
While travelling the said mobile phone was taken away by Y a co-traveller without the
knowledge of X. Decide the liability of Y, choose correct one among the following :

(1) Criminal misappropriation as the phone was lying on the seat of X.
(2) Criminal Breach of Trust-as they were co-travellers

(3) Theft-as property in possession of X was taken without his consent
(4) Chealing as the method adopted was dubious

29. Certain factors are essential to get Extortion converted to Robbery. Following are a few

given factors, Choose the one which is not required for the said conversion :

(1) Dishonesty

(2) Removal of property from the possession of another, by putting him in fear

(3) It is immaterial whether the person putting another in fear must be in the immediate
presence or far away

(4) Such fear should result in the delivery of property

30. “There are two facets to the definition of dishonesty and it is sufficient to establish the existence
of any one of them. There is no requirement in Law to establish both”

Choose the correct case among the following in which the above statement of supreme
court has been laid down as ratio.
(1) Tulsi Ram v. State of Uttar Pradesh
(2) Hari Sao v. State of Bihar
(3) Gurdatta Mal v. State of Uttar Pradesh
State of Bihar v. Nathu Pandey
HIINI\|||\||H||||H\||\|HH|||H\|I\IHIII\II\HIHII\
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27. U ydd g § T < fafy (Foem) sfufrem 2013 & stavie &t wiefivan & S 9d B @1 1 AT
fryffea =1 € §1 = ooy iR qve & <1 gfeal < wE ¥ w9 e #R g | wE W v
TSI |

JTUTY Ry qUS
(a) TfOE ¥ THA HT AR THR A T () STSiad HREw (J= g8 =it 7o)
(b) et HE (i) o9 o
(c) WHfgh AR (iii) TSiTEd HREE A AT
(d) =Y fa=sg & INH 9fd g Ot (iv) 7 oS T HRE™ AR A
BIRRIEICIT
e :
(@) (b) (o) (d)
1) G @) @ (@)
(2) @) (@) @) ()
G) @ (@) @) (i)
4) @ (@) @) ()

28. X AW AH A 7Y Hifctsh M o =R ¥ WeEel ®F AT 3R 9RT 7411 60 § X T SRR o fom
T Hemed B Y 7 o o1 = S T wenl # | W w1 =99 wY H SFan fuiRa it |
(1) Uiy g Fifw ®F X & Hie | 92 o |
(2) stoUfyer favard T Fifeh o Te-Ant o
(3) I Hifh X & TSR T axg fo1 SHHht Teafd & ot T off |
(4) oTETEES-FifR S AT ST T o, |y o |

29. SO S w1 SHdl H g5 & fAL 8 FRF Fifed & | = F8 FRE U T § S afkedy &
fou < gifed T80 S9h1 999 Hifew
(1) sgaE
2) = feame fodt &1 et 1 gmfa | Sg@d &

(3) % Heaqul e § o < aren =afad a7 W =ifew A1 R
(4) 9 WHR & T K GROTH FEALT A e ¥
30. ‘<A Y gRuT % < 94 § iR 9% fRet ww w1 st fvifa w9 % faw s €1 3 W
AT H @ 1 HEA H FE A TG 8
= fou ¢ AmEl § | 98 e o1 999 it e STEd SUF ated e |3 oTqad |
fean
(1) TIE T T W - I T
2) R IE AW fo=r ™=
(3) TRET T oA W Y T4
foRR T oM -A2e AUy
posts ||\||H|||“H||H||H||||\I\H\II\IIN“IHIHI|\|||\|H|| i Papec



31. Following are given some Provisions of Law (IPC). Choose the odd one out.
(1) Section 149 (2) Section 141 (3) Section 34 (4) Section 147
32. Which one of the following institutions gave suggestion for imposing environmental tax ?
(1) Amnesty International (2) World Water Institute
(3) UNESCO (4) United Nations
33. Under the Environment (Protection) Act, the term ‘environment” does not include :
(1) Water, air and land
(2) Inter -relationship which exists between water, air and land, and human beings
(3) Inter-relationship which exists between water, air and land, and plants
(4) Environment at work place
34. Match List - I with List - II and select the correct answer using the codes given below :
List - I List - II
(a) Power of Central Government to take (i)  Section 6 of Environment
measures to protect and improve (Protection) Act
environment
(b) Constitution of central Pollution (ii) Section 3 of Environment
Control Board (Protection) Act
(c) Power of Central Government to make (iii) Section 6 of the Water (Prevention
rules to regulate environmental pollution and control of Pollution) Act
(d) Gaseous or liquid pollutants in the (iv) Section 2(a) of the Air (Prevention
atmosphere injurious to human beings and Control of Pollution) Act
Codes :
(@ (b) (o) (d)
O O @) () G
@ () @) 0 )
@) () @) O @)
@) W) ) @ 0
yons AN y —



31. 9 oE.WLH. FA ® T2 39y fu MU ¥ fe wm wme wife
(1) TR 149 (2) ©RI 141 (3) I 34 (4) ©RT 147
32. TrAfafad # 9 ffa Feam 7 wafawn &2 Afrifa & &1 gema fean ?
(1) THIRT 3eCera (2) fova sa deom
(3) AT (4) TEES W
33. wAteRoT (Wiem) etfuftem & efaria ‘wafeor’ weg # wnfhet & ® -
(1) e, =g AR g
(2) <, 919 iR qf Td wHauh % 9 a0 U gay
(3) <, 91 3R yfF vd aawafa & = HAaU-Hg qey
(4) M T W TR
34. Gt - I W19 Gl - [ &1 fiae i &R = iU e &1 TR F¥eh |8l S 1 99T Hifg
et - 1 Tl - 11
(a) TEERO WAV SR GUR TG UMW FC/FEH (1) TFER0T (FRE) AfFEE T U6
33 F AU Hg TR H AYFR
(b) hErE IguU AV A€ & TS (i) TETERer (ERETOT) AfufT wT U™ 3
(c) TEfEElE gguw i fafataa (iii) < (T FrOT TR Tk )
3q T\ oM & faQ ohg TR &1 AYRR syt &t 9T 6
(d) SR § T A1 e IGu AEE WO R (iv) 9 (IgETT A SR Jshem)
fau Ff e § Afufag #1912 (a)
e :
(@ (b) (o) (d)
1) @) @) (@v) (i)
2 G) (@Gv) @ ()
(3) (i) ( )@ (1v)
(4) (i) (iv) (i)
pos ] \|||\|H||! 17




35. Match List - I with List - IT and select the correct answer using the codes given below :
List - I List - II

(a) Rylands v. Fletcher (i)  Principle of public trust for ecological
protection

(b) Indian Council for Environment Legal (ii) Precautionary Principle
Action v. Union of India
(c) Vellore Citizens Welfare Forum v. (iii) Principle of Polluter pays

Union of India

(d) M.C. Mehta v. Kamal Nath (iv) Principle of strict liability
Codes :
@@ (b) (o) (d)
(1) () @) G @)
@ @O @ @) ()
G) @) (v) @) ()
4 @O @G @) @)

36. Which one of the following statements is incorrect ?

(1) The Public Liability Insurance Act was enacted to provide immediate relief to the victims
of an accident involving a hazardous substance

(2) The Public Liability Insurance Act imposes ‘no fault’ liability upon the owner of the
hazardous substance and requires the owner to compensate the victims irrespective of
any neglect or default on his part.

(3)  The Public Liability Insurance Act, does not provide for maximum compensation for
injury or death of the victims

(4) The Public Liability Insurance Act obligates every owner to take out an insurance policy
covering potential liability from an accident

37. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Polluter pays principle means polluters should internalise the costs of
their pollution, control it at its source, and pay for its effects, including
remedial or cleanup costs, rather than forcing other states or future
generations to bear such costs.

Reasons (R) : Vellore citizen’s welfare forum Vs. Union of India decided so.
Codes :

(1) (A) is right but (R) is wrong

(2) Both (A) and (R) are right and (R) is the correct reason of (A)

(3) Both (A) and (R) are wrong

(4) Both (A) and (R) are right but (R) is not the correct reason of (A)
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35.

36.

37.

e

T - 11 % |19 gt - [ o1 fiam s o) = feu U e &1 7 3 98 S & 9o
HITST :
ot - 1 et - 11
(a) TRigg T M ®=R ()  RfEufaenta Heo o fore Ak = 1 fagid
(b) R gEerY fafy wiar afeg (ii) @Y S g
IIMH U "R
(c) dedR TqISE dTha ®IRH oM YR (i)  IgU YTaH fogid

(d) THHL. HEd SH HHA Y (iv) FeReIdE =1 fagid

frfafaa ol § 9 $F W HYF T4 § 2

(1) e e st srfafm, feet it aa 9 afed gEes & difed &1 der T8d 9eH
W & foau erfufrafaa T = an)

2) @ <l stw sAfufay eferes 9@ & mfas | Ffedq afaa afrifi w5 € o)
Hifed s TATRATET AT Tl i ToRETd i §C HIfaieh g1 UIfed ol qaTars o+ i STU&T Hial
gl

(3) <k St ot stfufrem difed & sEa 39 A 9 81 W SAfushan it i1 IrEE T/l
FAT T

(4) <k Sifac St sifafrem goss wiferss i fordl gEfe | 81 arel AfRan JHEm ol Hifar
FIA g T o1 Afd I & foIu anes &3 1

HYT (A) 3R HROT (R) 1 9 3R = fI 7T FHe 1 70 Fh IR AT

AT (A) : TGS AN G 1 e A § TR TgueR] 1 STIH UGN T AT T AR
AT ALY, IH Ik GId ol (A FT1 =1 39k IoE & EH arel TR 6l
T fohan ST =ifen e femas 3R STw-9wE &1 ana Infe § e
T THYTE 9 T A1 A1 et HifEdl 1 38! 7 A 18

HNUT(R) AR Hifesd Ieha hRH I YRd TR 3 TH1 & o foram )

%<

1) (A) € & afea (R) Tord T

2) (A) 3R (R) I T T IR (A) FT W& FR (R) T

3) (A) 3 (R) T TTera T |

4) (A) 3R (R) I 7 § AfFA (R) (A) F1 HE HR01 T R
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38. Match List - I with List - II and select the correct answer using the codes given below :
List - I List - II
(a) Rural Litigation and Entitlement (i) Grant of a lease of land or its renewal
Kendra, Dehradun v. State of without the approval of the central
Uttar Pradesh government is void
(b) Samatha v. State of Andhra Pradesh (ii) Balancing environmental and ecological
integrity against industrial demands on
forest resources.
() K.V.Shanmugam vs. State of (iii) Renewal of lease on forest land is not a
Tamil Nadu vested right
(d) State of Himachal Pradesh v. Ganesh (iv) Forest-based industries donot have an
Wood Products absolute or an unrestricted right to
operate their units where forest resources
are scarce.
Codes :
@@ (b)) (o (d)
M G @) 0
@ O @) @
@) () @) @) 0
@ O @ @)
39. Who of the following has remarked that International law is a “Living and Expanding
Code” ?
(1) Judge Alvarez (2) Lord Chancellor Sankey
(3) J.G. Starke (4) Prof. Lissitzyn
40. Which of the following statement/statements is/are incorrect ?
(a) Long duration is an essential element for International Custom
(b)  The custom should he completely uniform and consistent to be an International custom
(¢) In an International custom, Universality of pratice is not necessary, the pratice should
have been generally observed or repeated by numerous states.
(d) Opinio Juris is present, that is to say, customary pratice to be a International Custom,
must be recognised as being required by International law.
Codes :
(1) Only (a) is incorrect (2) Only (a) and (b) are incorrect
(3) (b), (c) and (d) are incorrect (4) (a), (b), (c), (d) all are incorrect
vons | R 2 —



38. eIl - I1 & @1 §eil - 1 &1 fAam #ifse &R F= U U e &1 730 &l 98 W A1 =99
HIT

Heft - 1 T - 11
(a) ® fAfTRE U seEfede &, (i) % TER F STIHRA &k e ug s &
BT TH W F2 T TR T H I ®
(b) THAT SAM Y YR I (i) O HEEE W SR 9 % aney/foes
TR SR Rfeafaw Afawa & o=
RES
(c) .. I FAM qHATG T (iii) =7 g T T 1 TR T Ffed sifaer
TR

(d) fEA=a 9ow TF 99 O g€ Yeded  (iv) o SMHMRA TN I o HATHAl i HHI
el &5 H ST 3R] HeETerd A h

e = smyfasifaa stfier == 2

< :

@ () () (d
1) G @ @ G
2 @ (Gv) @) ()
(3) () () (@v) (@)
@) @ @) () ()

39. frAfafaa & @ frem feoqoh ) € for eraaisdia fafy w **Sfifaa qen faeqa gfear’’ 22

(1) S TAaReS (2) WIE THR Haohl
(@) S = (4) 9. chifgesi=

40. Trafafaa & w9 91/9 we Toq 22
(a) Tl eTafy SIS W & foU U SMavas qF T
(b) T TS Y B & T, Yo =l quid: 19! aem Sd g1 amfed |
(c) T& T Yl H EER i WS HIHehal SAvaH ol ¢, 3T Tl G-I A SRR <@l
ST =T 1 el ST =1feC |
(d) ‘oAt SgRE’ AN 7, 3HE Ad € TR Tmr ugfd # W ®fe g9 % fod
SR fafy gr eTavaes €9 9 A=t & ST =ifey |

< :

(1) FIA () T B (2) FAA (a) T (b) oA ¥
(b), (c) T (d) Terd ¥ 4) (), (b), (), (d) Wl T T
5515 |H||H|||HH||H| |l .




41. Match List - I with List - IT and give the correct answer by using the codes given below the
lists :
List - I List - II
(Topics) (Related Cases)

(a) Sources of International law (i) Haya Dela Torra Case

(b) Recognition (i) Re Castioni Case

(c) Extradition (iii) The Arantzazu Mendi Case

(d) Asylum (iv) United States V. Schooner

Codes :

@@ () (o (d)

W) (v) @) @ 0

@ ) @ @)

@) (v ) 0 G

@) @ @) @6

42. Which one of the following cases is not a case decided by permanent court of International

Justice ?

(1) Movrommatis Palestine Concessions Case

(2) S.S. Wimbledon Case

(3) Anglo Norwegian Fisheries Case

(4) Chorzow Factory (Indemnity) Case

43. Read both statements (A) and (R) and give the correct answer by using the codes given
below :

Assertion (A) : By the term “Asylum’ we generally mean the shelter and active protection
which is extended to a political refugee from another state, by a state which
admits him on his request.

Reason (R) : Everyone has a right to seek and enjoy in other countries, an asylum from
prosecution.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not correct explanation of (A)

(3)  (A) is correct but (R) is wrong

(4) (A) is wrong but (R) is correct

44. Which of the following is the only Principal organ of the UNO which consists of all the

Members of United Nations ?

(1) Security Council (2) General Assembly

(3) The Economic and Social Council (4) Trusteeship Council

S 1 T —



41. = T 7T Fel 1 TAM FIA GC G - 1 1 Gl - 11§ FAfera HIFC qen &1 3w AT
Tt - 1 T - 11
(Frame-formray) (Hafera Hre)
(a) ST ®MEA & Hd () =T Sl TR A
(b) H=IQl (i) ¥ RIS T
(c) Fdu (ili) SIS H=e! HH
(d) A (iv) FIAEeE WIH I T
e :
(@ (b) (9 (d)
(1) Gv) () @) ()
(2) @) (@) o (@v) ()
G)  (v) () @ (i)
(4) @) (v) (D) ()
42. fr=fafea & w0 @1 o et =R = gri vl aen w@ § 2
(1) WRHATTE TreEersd REmd Jme
(2) TH.TH. forecied A
(3) el ARSI fRads dre
(4) el Wt (seafEl) HHe
43. Tl ®YT (A) T (R) ! TgR 1< T T Fel & F&t IW HT =47 DT
SITURAT (A) : 3T Vg 1 W= o7ef § 1= fopelt U@ U1 g0 ot Tretifares wRomeft =t fen
T 3715 TS Wisha e 58 39 36k o109 W e T 7
T (R) : Tcieh AT ol STTerd! STRTM § F= & fa grRomeff & ad) 38R < # IR0 o
1 AR B |
e :
(1) (A) T (R) SHI Tl & 9901 (R), (A) 1 Tl =08 T
(2) (A) 1 (R) TSI Wal € Al (R), (A) T T AT T2 2 |
(3) (A) W& ® Aferd (R) Terd 71
(4) (A) 7T § AfeRd (R) 98t
44, freAfafea & @ &9 9,020 F1 THUH TG TF T, S RS W & Tu e ¥ faffq €2
(1) gLan aftvg (2) HER g9
(3) TR qem WIS 9REg (4) = g
rssi ARV .



45. Match List-I with List-II and give the correct answer by using the codes given below :
List -1 List -II
(Provisions) (Articles of U.N. Charter)
(a) Suspension of Members (i) Article 5
(b) Veto Power (i) Article 97
(c) Appointment of Secretary General (iii) Article 27
(d) Composition of Trusteeship Council  (iv) Article 86
Codes :
(@ (b) (o) (d)
O 6 @) @ )
@ (v @) @ 0
@) ) @ @) «
@) G O @) @)
46. Which is not the official language of the United Nations ?
(1) Russian (2) Japenese (3) Spanish (4) Arabic
47. The offence of bigamy is not committed under the Hindu Marriage Act, 1955 if a person
marries during life time of his or her spouse provided :
(a) The first marriage is null and void
(b)  The first marriage was performed without ceremonies
(c) The first marriage is voidable and decree annulling it has not been passed
(d) The first marriage is valid
Codes :
(1) @and(© (2 @and®) () (and(  (4) (b)and(d)
48. A marriage under the Hindu Marriage Act 1955, must be solemnised in accordance with the
customary rites and ceremonies of :
(1) The bridegroom. (2)  The bride.
(3)  Either bride or bridegroom. (4) Both bride and bridegroom.
49. The absence of witnesses make a Muslim marriage :
(1) Irregular under Sunni law, but void under Shia law.
(2) Irregular under Sunni and Shia Law.
(3) Valid under Sunni law but irregular under Shia law.
Valid under Shia law, but irregular under Sunni law.
oo HIINIHIHIIHIH\II\IIHIII\I\IHHNII\HH\ 2 Fapeca




45. = fST 7T el 1 TAM FIA G GET - [ T Gt - 11§ GHfera HIC qe1 &1 3w S
T - 1 -1
(WTTET) (. ST T TR
(a) weH 1 fdad (i) =<5
(b) e &1 rferhn (i) STT=T 97
(c) werafaa &1 fgfe (iii) 3TT=T 27
(d) T GREE % THI BT HASH (iv) T3 86
%<
(@ () (9 (d)
@ @ @) G ()
(2)  (v) (@) @) ()
@) @) (@) (@v) ()
4) @) (@@ @) ()
46. ITH 9§ FF G IAEE I HI HE AT TE ¢ 7
1) A (2) SUH (3) Ef (4) ST
47. TR &I AR T Saq el o Sifad wd foamg sar/&d § @ g foems atfufmm 1955 &
siaqiia fgfaame 1 ST9y <& T Siran © aerd o
(a) e foaTg 3Thd AR I B |
(b) uen faam fom Gfa-Rams stsm & 9 foman man o
(c) ga faare fgur § ok 58 srghd & el ferdt wiftd & =1 7T ® )
(d) e faam 3y T
e :
(1) (a) ¥R (q) () (a) ¥R (b) () () ¥ () (4)  (0) ¥R ()
48. T faare sifufrm 1955 % siawia frae Afa-fam oIk g™ % Tur fafued srwifua fwa
ST §
1) = 2 3%
(3) YA (4) TR FY, T
49. el i rgaredta H ey oo
(1) Gl & * A7ER eifrafa wg R S & A7ER gt
(2) g iR fren @ & sfaia sifafaa
(3) | wMA & Sidia Ay g e wEE & Siaia At
(4) T T & SAata Fogemet Wy gl T o SAaia Aarad
vsss A : Papeci



50. Section 14 of the Hindu Marriage Act, 1955 enacts a ‘fair trial’ rule, according to which a
person :

(1) Can petition for divorce within one year of marriage

(2) Cannot petition for divorce within one year of marriage except in exceptional cases
(3) Cannot petition for judicial separation within one year of marriage
(4) Can petition for restitution of Conjugal Rights within one year of marriage

51. With the help of codes given below mark the incorrect statement in the light of the Hindu
Adoptions and Maintenance Act, 1956 :

(a) Permission of the court is not necessary except when guardian gives the child in adoption.
(b) An adoption once made is revocable by natural parents only.

() Mother may give the child in adoption with the consent of father.

(d) Performance of ‘datta homam’ ceremony is essential for a valid adoption.

Codes :

1) ©and@d @ @and®  (B) (Gand(© 4 (a)and (d)

52. Abstinence from sexual intercourse for a period of not less than four months persuant to a
vow is called :

(1) Divorce in hasan form (2) Divorce in ahsan form
(3) Divorce by Zihar (4) Divorce of Ila

53. In which of the following cases the Supreme Court of India has not addressed the issue of
Uniform Civil Code :

(1) Sarla Mudgal v. Union of India (2) John Vallamattom v. Union of India
(3) Romesh Chander v. Savitri (4) John Deingdeh v. S.S. Chopra

54. Answer using the following codes :

A Hindu wife is entitled to claim maintenance from her husband under the provisions of the
Hindu Adoption and Maintenance Act, 1956 if, :

(a) She is unchaste but living with her husband
(b)  She is unchaste but not living with her husband
(c)  She is living separate on any ground mentioned under section 18(2) of the Act.

(d) She has converted to Muslim religion

Codes :
1) @and(@© @ @and(®) () Mand(© () (O and (d)
vsos [ HNNAOR 2 Papec




50. fEg foame stfuftam 1955 #t o 14  Fronet g7amg’ & fram =01 sfufrafaa &t 81 36 T79R
=fe

foame & e o9 & 2{ aATF HI ATfeRT < Hehell |

3T ATl i BieH faame & T a9 & i ek i AT &l < hdl § |

foaame & T a9 & A =fae fae™ +t A e < Tohdl B

foame & U oY % i T SRR % Siarid YAfHE i ARt T WehdT ¥

51. 9 feu 7T %2 F FATER fEg s Teu IR TERErE /SN SAfuftad 1956 % YR H Terd weF I
fafea =%
(a) 9 AMYITEF THFH-TEU & fAC =2 1 UG H €, 39 Feafa 1 Sress =mmer it STAfd
AT TE ¢ |
(b) TH IR fohan T Teh-Tgw it Arar-fuar gRy yfaweRoia 7|
(c) Toan =t weAld & 9 9= 1 7E T Tehdll B |
(d) Y ITH-TTY & AT ' TT THA’ IO HAT AR B |

(1) (c) IR (d) (2) (d) #R (b) (3) (b) ¥R (o) 4)  (a) 3R (d)

52. ¥R WIE ¥ HH iy & SR A T8ard ¥ X @A W Siishdl o 99 /9 i el Sl ¢
(1) 791 &9 H darh (2) STBHM ®Y H daTh
3) st g aams (4) 3T W qATHR

53. frAfafed fea ove § Ssaan =mme 3 9uH e |iedn % qog &1 SHIEH & R ¢
(1) ETAT T I°H 9IRdG "3h (2) S SeAHTH S 9 HIhR
(3) WY = W Hifersf (4) A féres oM Ta.T™. =ue

54, fr=fafEd &l &1 9FM R SW AW
T fig vl i Tah-Tew iR TewEmE sifufTem 1956 % wraE % faria ST ufd ¥ SR
YT A 1 Se i i Il @l §, IfS
(a) % VAYR T W 9fd & TU T W@ )
(b) ¥ VYR § WY 704 ufq % WY T W W R
(c) =% sTfuftad =t 9 18(2) & efafa ffea foreht oMeR W wfa 9 oo © W& g1
(d) 8 3T ¥ T foran g
e :
(

1) (
psss ]

a3ﬁ'{(c

)
[l

2) (a) 3R (b) (3) (b) ¥R (o) (4)  (c) ¥R (d)

) (
N 2




55. Which of the following statement is wrong ? Answer using codes given below :

(a) Human Rights are essentially a product of bureaucracy.

(b) Human Rights are a reaction to tyranny

(c)  Primitive man could move all over world, without any restriction

(d) All women are born free, but everywhere they are in chains.

Codes :

1) () 2 () 3 (© @ (@

56. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : In the exercise of his rights and freedoms, no one shall be subjected only for
such limitations as are determined by law solely for the purpose of securing
due recognition and respect for the rights and freedoms of others, and of
meeting the just requirements of morality, public order, and the general
welfare in a democratic society.

Reason (R) : Because Article 29(2) of the Universal Declaration of Human Rights states
s0.

Codes :

(1) Both (A) and (R) are right and (R) is correct reason of (A)

(2)  (A) is right, but (R) is wrong

(3) (A) is wrong, but (R) is right

(4) Both (A) and (R) are wrong

57. Section 3 of the protection of Civil Rights Act, 1955 prescribes punishment for :

(1) Enforcing economic disabilities (2) Civil disobedience

(3)  Enforcing religions disabilities (4) Enforcing political disabilities

58. Article 6 of the Universal Declaration of Human Rights provides for :

(1) Right to life

(2) Prohibition of slavery

(3) Right to be recognised as a person before law

(4) Equality before law

|| 2 papeca




55.

56.

57.

58.

oo |H||H|||HH||H||H||||\IH|\||\IIHI“IHINIHII\IHII!

freAfafed § 9 &9 1 oA Ted 827 9 5T T el B yE wR S i
(a) I ARTFER AT T F TR HT 3T 7|

(b) HHa AR, AETTE 1 wfafwa €|

(c) onfen =afeq famn forelt wfqaie & 9 gfTen & =@ wehan o)

(d) |t Afeemd T 91 g8 € T o S § SRSl g T

< :

1) (a) 2) () G) (© 4) (d)

PRI (A) 3R HWROT (R) F! Ifew IR = fou T¢ Fii w1 7= 2 S ST

ATURAT (A) : 3T RUFRI TR TG 1 T F0 97 Fhet =afe W o a2t gfaey =&t
T STC ST el g8 o STFRRI SR Todad sl 3fad A=l <F & Jas 9

T ford} Sispaiter TS o Sfaerdr, i e i 9| Hedml &t SfEd

STETTh ! T F & fa Fuifa g s 21
T (R) : Fiif Aa AfHRI 1 A ifew S F STE 29(2) | TH FEl T B
e :
1)  (A) 3R (R) 31 W& § 3R (R), (A) 1 3fod R0 71
(2) (A)E& E, TG (R) Terd B
(3) (A) T ¥ W (R) WE B
) (A) 3R (R) <l Ter T

4

R TfueRR wea sAfafe, 1955 % @< 3 # fefafed & fag won fifa = © 2
(1) o7 oTaTar gafdd (2) HfeTa sreRm

(3) wfier eTwal yafdd KL (4) TSHIfd ST yafdd e

THa ATYHRI 1 e e = & Tfwss 6 § fefafaad suay ffan T ¢
(1)  Sfted 1 AR
(2) I W gfasy
(3) A % HHY AfK & €9 H A=l fu S 1 stferen
HTA o THE FHMF

N
<]
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59. Match List-I with List-II in the light of Geneva Convention Relating to the Treatment of
Prisoners of War, using codes given below :
List-I List-II
(a) Categories of Prisoners to be treated as prisoner of war (i)  Article 13
(b) Prisoners of war to be humanly treated (i) Article 91
() No physical or mental torture (iii) Article 4
(d) Escape of prisoner of war (iv) Article 17
Codes :
(@ (b) (o) (d)
O 6 @) @
@ (O @) (v G
@) ) @ @ @)
@) @) O () G
60. Match List-I with List-II in the light of Human Rights under the constitution of India.
List-I List-II
Case Law Principles
(a) East Coast Railway v. Madhav Appa Rao (i) Freedom of expression
(b) L.IC. v. Professor Manubhai D. Shah (i) Equality
(c) Vakil Prasad Singh v. State of Bihar (iii) Religious instructions
(d) Aruna Roy v. Union of India (iv) Speedy trial
Codes :
(@ (b) (9 (d)
O @ O () G
@ O @) ) ()
@) O @) @) @)
@) @ O @) @)
61. State of Kerala v. N.M. Thomas is about :
(1) Religious minorities (2) Linguistic minorities
(3) Area wise reservation (4) Backward class
62. The main aims of law of tort are :
(a) Punishment
(b) Deterrence to wrong doers
(c) Restoration of original position
(d) Damages to victims
Codes :
(1) ) and ( (2) (c) and (b) (3) (b)and (d) (4) (c) and (d)
oo HIIHIIHIH IIH\IIHI\ 5 —




59.

60.

61.

62.

ysns ]

= fau T e w1 gA F GgEfedl &k WY FIER F " H Gl Fovd i Qe H At -1 9
Tell-11 &1 gafad i
qeEt-1 TEi-11
(a) FSdQl TH S ATt hical i Aol () AT=< 13
(b) ISSTeAl < WY AFATT HTER foRa ST (i) TT==< 91
(c) forelt YR &t AERES o1 TRIRE @ 7 & AC () TS 4
d) FSad H AR (iv) =T 17

@@ (b) (9 (d)
) (@) () @) (@)
) (@) @) (iv) (i)
) (i) (@) () (iv)
) (i) (@) (v) (i)
IR o WG9 & S{aid 7e ARl i et § FeA-1 § Feii-11 1 gaferd i |
HEit-1 Heit-11
HehaH | Harad i fagta
(a) T HIE TS A HHT AN @) 3Tr‘3-I°qI°KI CARERER]
(b) TA.STE.Hl. I AINE SLYE (i)
(c) =ehie wHE f6g oM for T (i
(d) TRV qF M YR G (i

)ﬁwmw
v) fo=mor # qsit

(@ () (

) () (@ (v) (i)

) (@ @G) (v) (i)

) @ () (@) (i)

) () @ @) (i)

A ToF o TH.0Y. o9 frefafe o feas s § &2

(1) ftfe sergers (2) uE STeugEIh
(3) &R gfdty 4) Tzt

T fafy & 7= 2w € -

(a) TUS

(b) T HE HIA AT ol TAd HE H H o HAT

(c) T fefd =t SR |

(d) difedi =l gatmas|

< :

(1) (@) ¥R () (2) (o) 3R (b) (3) (b) ¥R (d) (4) (03 (d)

LTI i




63. The “Absolute Liability” theory on the basis of pollution causing industrial injuries was

propounded by :
(1) V.R. Krishna Iyer, ]J. (2) P.N. Bhagwati, C.J.
(3) Kuldip Singh, J. (4) M.N. Venkatachaliah, C.J.

64. Defence of absolute privilege in case of defamation is available in which of the following
cases :

(a) Parliamentary Proceedings

(b) Publication of matters of Public interest

(c) State of Communications

(d) Judicial Proceedings

Codes :

(1) @, Band© @ O, @and(d) (@) (), (b)and(d) 4 (d) (© and ()

65. The essential ingredients of the tort of negligence are :
(a) One owes a duty of care towards the other
(b) One commits a breach of that duty
(c) The other person suffers damage as a consequence there of

Choose your correct answer with the help of codes given below :

Codes :

(1)  Only the first is an essential ingredient

(2) None of them is an essential ingredient

(3)  All of them are essential ingredients

(4) Even if the first is absent the tort of negligence is committed

66. Negligence is failure in duty of taking due care. The expression ‘duty’ means :
(1) A legal duty (2) A legal as well as moral duty
(3) A legal as well as social duty (4) A specific legal duty

67. There is no qualitative difference between a medical practitioner and an advocate,... from
the point of view of his status, duties and regulatory control by a statutory body. Hence
there is no reason why the legal practitioner should be excluded from the purview of consumer
protection Act.

From the following choose the correct decission in which it has been held :

(1) K. Vishnu v. National Consumer Dispute Redressal Commission and others
(2)  Joshi v. Motor industries Co.

(3) Charan sing v. Healing touch Hospital

(4) Arvind Mills Ltd v. Associated Roadways

ad T
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63.

64.

65.

66.

67.

rsns [ [REITMAUR NI

TSI % BRI AT I % STER W Areifaen <ifaca’ & fagia o1 wfaures frefafed 8 9 faam
IER I

(1) .3RF TR, =ATATE | (2) WA, Wadl, &I AT |

(3) FoIdy Tog = | (4) TH.UA. dehederl, Y& <R |

frefafad amel § @ fora ame o Arei % ey | 4o fosifedr w1 1 suersy € 2

(a) HESF HITE |

(b) rhfed & HTHE! 1 JRRH |

(c) TSFEIX|

(d) e wREmRET |

e :

1) @ ®)F(© @ ©), QI @) @ O)FAE @ (@) (MW (@)

sy fafy o e & 1evas ac 39 THR © ¢

(a) foet =afe &1 wde ® for 98 TR Ao &1 =9 @ |
(b) T Al I FHdeA hl W HIT T

() T =AM H 3% TROTHEET THAM Bl ¢ |

1= fqu 7T i T FEEA 9 T W F TIT DI

< :

(1) oA BT AETIH 3T T |

2) T H HE ot STrEvaE 3 T T

() g Wt MEvaE o ¥

(4) Teel feufa % 7 M R oft ATRETE! w1 Fed foman S R

3fEd ©A 7 % Fdsd F1 TR Suen ¥ 1 Afreafad e’ @ ot ®
(1) fafuasw wae= ) fafus qeon Afaw wdea
(3) fafuss qen wmfsre wdea (4) Tafire fafus &

et gania & WR, Haed I Fifards e gr faframes feEm o1 gfe 9 g AR S & o=
T[T 3T Tal & | SAfCTT Srehiet shl ISR W&ol I & SRR | 91e W@ *1 HhIE HR &
g1 Frafafed § 9 5@ w@ fofa &1 === #ifse 5o o5 sfaa s ™ g

(1) .fao] a9 A S ferae Reua &HvE @ o

(2) Sl I "I e .
(3)

=01 188 o™ Eife 2= gifeqed
(@) efeg fuew fafyee am wEifauee Teas

w
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68. Read Assertion (A) and Reason (R) and answer using codes below :

Assertion (A) : Consumer Act is made to simplify the procedure and avoid the
complexity so that an oridinary citizen can file a complaint without a
difficulty

Reason (R) : It intends to protect a large body of consumers from exploitation.

Codes :

(1) (A) and (R) are right and (R) is the right reason for (A)

(2) Both (A) and (R) are wrong

(3)  (A) is right and (R) is wrong

(4) (R)is right and (A) is wrong

69. Which are essentials of sale of goods ? Answer using codes given below :

(a) Contractual capacity

(b) Bilateral contract

(c) Profit for seller

(d) Mutual and free consent of parties to the contract of sale of goods

Codes :

M @®O @ @Od 6 0od @ @

70. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Every partner is an agent of the other partner.

Reason (R) : Partnership is agency

Codes :

(1) Both (A) and (R) are wrong

(2)  (A) is right, but (R) is wrong

(3)  (A) is wrong, but (R) is right

Both (A) and (R) are right and (R) is correct reason of (A)
oo HIINIHII\IIH||H\||\||H|||H\\IHIII!II\HHHI\ ’ Faper




68.

69.

70.

oo |H||H|||“H||H||H||||\|H|\||\||H|H|H||\||\|||\|H||

AfeReT (A) R HIOT (R) 1 wfey 1= faq Te 2 &1 Wi & 3w i)

Af@weT (A) YfshaT Sl TR I IR Sifeetar i R w & e sy stfufm semen
T ® Fed g |amor Aies fohet sisrE 1w fey fom feremma <=t
AT G |

HAUT (R) ST 329 IS T B USRS 1 W90 ¥ §= ¥
Fe

(1) (A) 3R (R) W& § 3R (R), (A) FT & HROT T |

2) (A) 3R (R) I Terd ¥

3) (A) Wl ¢ 3R (R) 7o B |

(4) (R) ¥ % 3R (A) Tord B

4

et faska o forw &iF 9 stavas 7 €2 = fSu 7T %2 1 7@ 3d gUIW e

(a)  SSITErF Efel

(b) fgueira Hfaa

(c) fashar & forg @y

(d) HEMI T foshl o TaY % I&TRRI i TREARE & Wds Gl

e :

1) (@), (b), () 2)  (a), (b), (d) 3)  (b), (0) (d) 4) (@) (9 (d)

SIPURAT (A) 3R H/RUT (R) H! TgH = I 7T F2 | H& SR A1 F949 Q|
AMURT (A) :  TIT TEIER THL HIERR 1 vkl |
HTOT (R) : TrRIeR) i 7|
e :
(1) (A) 31 (R) T Tord 1
2) (A) T &, AfFA (R) Tod 71
() (A) T &, &fRT (R) T R
(A) 91 (R) IHT TE ® 3R (R), (A) FT F& HRO B

w
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Conditions applied by trade usage

Difference between sale and agreement to sale

71. Match List - I with List - IT and select the correct answer using the code given below :
List - I List - II
(a) Instalment Supply Ltd. v. STO (i)
(b) Gardiner v. Gray (if) Nemo dat quo non habet
(c) Peter Darlington Partners Ltd.  (iii) Sale by description
v. Gesho Co. Ltd.
(d) Farquharson Bros (iv)
v. King and Co.
Codes :
@@ () (o) (d)
V) (W) @) @ 0
@ ) @) @ )
@) Gv) @) @) )
@) (v (@) @ 0
72.  Which one statement is correct from the following statements ?
(1) A director of a company as a director is a servant of the company
(2) A director is an agent of his company
(3) A director is not a fiduciary person of his company
(4) A director is master of his company
73. Match List-I with List-II and select the correct answer using codes given below :
Answer in context of the Negotiable Instruments Act.
List-I List-1I
(a) Time and place for presentment (i)  Section 19
(b)  Cheques are payable in demand (ii) Section 8
(c) Holder of a negotiable instrument (iii) Section 61
(d) Fictitious drawer or payee (iv) Section 42
Codes :
@@ (b) (o) (d)
O O ) @ G
@ ) @ @) 0
@) () @) @) 0
@ () @) 0
yons AN 5
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71. 9 ST TC FH2 A1 FA FA G G - [ T Gt - 11§ gHfera HIT :
T -1 T - 11

(a) THIGH= T faffee oM e dtel. (i)  SHaiier YA g AN S TS Id
(b) TS 5 9. (i) 7HI Tl F 77 §TES
(c) X efelred urdd fa1. s & &, fa. (i) oo g fornt
(d) e dg I9H fRT T . (iv) farsht e faskt o foag R & o= i@
e :
@ (b) (9 (d)
1) @) @v) G @
(2 @) @) @O ()
®) (v) @) @ ()
4) (v) @) @) (0

72. frefafed wem | SiF @ wod @@ 82
(1) T &wFA &1 3wk, T Feer o IR ST 1 99 gl ¢ |

(2) TUF T STUH HEOT T ATkl B B
(3) UH fIurR STUH T 1 Avanfas SAfaH & e ¥
(4) T Trdvren oo wET 1 ATk B

73. i foU 7T %2 1 TN wTd gC -1 H GA-11H gafad wie

Teit-1 -1

(a) U o faT 999 T () =19
(b) FF AT WIAE (i) =8
(c) TGhT forEd 1 YR (i) T 61
(d) STERl SATEIOTRT AT SRTT (iv) oI 42
e :

(@ () (9 (d)
@ @ (@) @) ()
(2) @) @) Gv) ()
3) (i) (111) (1v) ()
4) (iv)

(if)
rans 1
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74. Which of the following statement is correct ?

1)

Open cheques are those which cannot be directly presented to the drawee bank for
payment across the counter

A 16 year old girl can draw a cheque
Indorsement is written on front of a cheque

Indorsement cannot be made by the holder of a negotiable instrument

75. Which of the following statement (s) is/are incorrect ? Answer using codes given below :

(a) In Attorney General v. Great Eastern Railway Co. the House of Lords observed that the
doctrine of ultra vires as it was explained in the Ashbury case, should not be maintained.
(b)  Section 13 (i) (c) of the Companies Act provides incidental objects which need not be
stated in the memorandum.
(c) If incidental objects are not stated in the memorandum, they would not be allowed by
the principle of reasonable construction
(d) The doctrine of indoor management operates to protect insiders against the company
Codes :
(1) Only (a) and (b)
(2) Only (b) and (c)
(3) Only (), (b) and (©)
4) (), (b), (0) and (d)
-00o0-
|| s papera



74. frefafad § &4 91 Fo7 @& 72

(1) o 9% o 9% 3 8, f¢ Pam & fau stezoresl S % e W W9 weqa Tal foman s
el T |

(2) 16 I F TSH! =k QR HY Hehall B |
(3) ol 9% & qEYs W q=iwT fHan S 2
(4) TR fored % ¥RE g YOl el fohdn S Hehel |

75. Trefafad 3 #F 91/8 woF Tord 2 A9 fou T g § | wE SO H A BT

(a) T SR oA U< 38 {rdl o, A | god 31 ared | sifufaeifid foren f sifusmadia
=1 fagr, sS4 fo e19e’) e § T fomen o o, s e I R g

(b) T stfufrEm &t uR 13 (i) (o) H SAwifTe RE #1 sudy fhen wan ®, fwer wow o

3G F I SERIHA T B |
(c) IR J H iRt KT F1 Seci@ 8l ol Sl dl 3= Jfokga §al o fHgr gl
STIAfA 7l & St |
(d) onidale geE w1 fagr Al & fovg HwH=IiEl ot @ & fau = S g
e :
(1) &ad (a) T (b)
(2) Had (b) TA ()
(3) A (a), (b) T ()
(4)  (a), (b), (c) 1 (d)
-00o0-
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